


2 4
2 6 1



5 0 4
2 3 4
2 6 1



41 + 5                            65 + 6
42 + 5                            65 + 5 
43 + 5                            65 + 4 
44 + 5                            65 + 3
45 + 5                            65 + 2
46 + 5                            65 + 1



41 + 5                            65 + 6
42 + 5                            65 + 5 
43 + 5                            65 + 4 
44 + 5                            65 + 3
45 + 5                            65 + 2
46 + 5                            65 + 1



Тема урока:
«Сложение двузначного 

числа  и однозначного 
с переходом через 

разряд» 



Цель урока:
учиться складывать 
двузначное число и 

однозначное  с переходом 
через разряд. 



45+7=(40+5)+7=
40+(5+7)=40+12=

52



36+7=36+(4+3)= 
(36+4)+3=40+3= 

43








